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b

Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

a) 0.6 =15 =2 b) 0.2 =7 =1 ) 04=1=2
e B LR

2)

Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

_ 48 _ 12 _ 81 _ 81 _ 41 _ 4
a) 0.48 = 155 = 35 b) 0.81 = 155 = 100 ¢) 041 = 755 = 10

_ 16 _ 4 _ 30 _ 3 _2 _ 1
d) 0.16 = 155 = 55 ¢) 0.30 = 155 = 1g £) 0.22 = {55 = 5

_ 33 _ 33 _ 73 _ 73 : _ 70 _ 7T
g) 0.33 = 455 = 100 h) 0.73 = 155 = 140 ) 0.70 = 155 = 1o

: _ 15 _ 3
3)

Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

a) 8.6 =13 =% b)2.8=2=1U ¢) 6.9 = 69 — 6
d)88 =158 == 0) 2.4 =23 =1 Hdd=1=2
g)25=5=3 h)2.9=2 =2 )9.7=9T_9
HaT=1r=1I

4)

Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

a) 3.66 = J00 = 133 = 333 b) 4.71 = 15 = 15 = 4755
c)4.34 = P25 =2 =41l d) 2.64 = 205 = 50 = 230
e) 6.85 = $82 = 31 = 61T f) 3.78 = 318 = 8 = 333
g) 1.67 = 100 = 108 = 155 h) 5.53 = 333 = 228 = 5.3,
i) 2.25 = 228 = 9 = 21 j) 4.67 = 10T = 387 — 4 OF
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Good Luck!
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